
SAP ABAP table REEWYEAR {LUM: Einheitswert - Jahreswerte, Arbeits- und Dynprofelder}

REEWYEAR

MANDT [CLNT (3)]

INTRENO [CHAR (13)]

EINHWERTWAER [CUKY (5)]

EINHWERTWAER2 [CUKY (5)]

STEUERMWAEHR [CUKY (5)]

STEUERMWAEHR2 [CUKY (5)]

EINHWBEWGWAEH [CUKY (5)]

EINHWBEWGWAEH2 [CUKY (5)]

FEINS [UNIT (3)]

GRART [CHAR (4)]

EIGENTUEMER [CHAR (10)]

SFEART_EW [CHAR (4)]

SBV_EW [CHAR (4)]

SVFART_EW [CHAR (4)]

FEINS1 [UNIT (3)]

WERT1WAEHR [CUKY (5)]

FEINS2 [UNIT (3)]

WERT2WAEHR [CUKY (5)]

FEINS3 [UNIT (3)]

WERT3WAEHR [CUKY (5)]

BODWAEHR [CUKY (5)]

GEBWERTWAEHR [CUKY (5)]

AUANWERTWAEHR [CUKY (5)]

AUSGSWERTWAEHR [CUKY (5)]

BODANTWAEHR [CUKY (5)]

GEBANTWAEHR [CUKY (5)]

FEINS_LW [UNIT (3)]

FEINS_HOF [UNIT (3)]

FEINS_FORST [UNIT (3)]

FEINS_GERING [UNIT (3)]

FEINS_UNL [UNIT (3)]

USCHBETRAGWAEHR [CUKY (5)]

T000

MANDT [CLNT (3)]

 REEWYEAR-MANDT = T000-MANDT 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 REEWYEAR-FEINS = T006-MSEHI 

0..N

1

 REEWYEAR-FEINS1 = T006-MSEHI 

0..N

1

 REEWYEAR-FEINS2 = T006-MSEHI 

0..N

1

 REEWYEAR-FEINS3 = T006-MSEHI 

0..N

1

 REEWYEAR-FEINS_FORST = T006-MSEHI 
0..N

1

 REEWYEAR-FEINS_GERING = T006-MSEHI 0..N

1

 REEWYEAR-FEINS_HOF = T006-MSEHI 

0..N

1

 REEWYEAR-FEINS_LW = T006-MSEHI 

0..N

1

 REEWYEAR-FEINS_UNL = T006-MSEHI 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 REEWYEAR-AUANWERTWAEHR = TCURC-WAERS 

0..N

1  REEWYEAR-AUSGSWERTWAEHR = TCURC-WAERS 

0..N

1  REEWYEAR-BODANTWAEHR = TCURC-WAERS 

0..N

1
 REEWYEAR-BODWAEHR = TCURC-WAERS 

0..N

1
 REEWYEAR-EINHWBEWGWAEH = TCURC-WAERS 

1

1  REEWYEAR-EINHWBEWGWAEH2 = TCURC-WAERS 

0..N

0..N

 REEWYEAR-EINHWERTWAER = TCURC-WAERS 

1

1

 REEWYEAR-EINHWERTWAER2 = TCURC-WAERS 

0..N

0..N

 REEWYEAR-GEBANTWAEHR = TCURC-WAERS 
0..N

1

 REEWYEAR-GEBWERTWAEHR = TCURC-WAERS 
0..N

1

 REEWYEAR-STEUERMWAEHR = TCURC-WAERS 

1

1

 REEWYEAR-STEUERMWAEHR2 = TCURC-WAERS 

0..N

0..N

 REEWYEAR-USCHBETRAGWAEHR = TCURC-WAERS 

0..N

1

 REEWYEAR-WERT1WAEHR = TCURC-WAERS 

0..N

1

 REEWYEAR-WERT2WAEHR = TCURC-WAERS 

0..N

1

 REEWYEAR-WERT3WAEHR = TCURC-WAERS 

0..N

1

TIVFBVEW

MANDT [CLNT (3)]

SBV_EW [CHAR (4)]
 REEWYEAR-SBV_EW = TIVFBVEW-SBV_EW 0..N

1

TIVFFEARTEW

MANDT [CLNT (3)]

SFEART_EW [CHAR (4)]

 REEWYEAR-SFEART_EW = TIVFFEARTEW-SFEART_EW 

0..N

1

TIVFGRARTEW

MANDT [CLNT (3)]

SGRART_EW [CHAR (4)]

 REEWYEAR-GRART = TIVFGRARTEW-SGRART_EW 

0..N

1

TIVFVFARTEW

MANDT [CLNT (3)]

SVFART_EW [CHAR (4)]

 REEWYEAR-SVFART_EW = TIVFVFARTEW-SVFART_EW 

0..N

1

VIEINHW

MANDT [CLNT (3)]

INTRENO [CHAR (13)]

 REEWYEAR-INTRENO = VIEINHW-INTRENO 

0..N

0..N


